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02 & A Y| 40,000 0 40,000
OEBYHFTAEX FCIAD See EsHE 22
20,000,000 x 14! 20,000
OMYE X AXANAE 2 20,000,000% 14! 20,000
401 Al HI L 2 0HHI 460,000 265,000 195,000
01 Al& H| 460,000 265,000 195,000
OF&X 22X EXT S AN&E= A4 & HH|
500,0008 x40 20,000
OFAX 2X GHUHEXBE(ZHA B2d)
20,000,000 =10 A 20,000
OFEX 2XN7<E A &M
20,000,000 *2H A 40,000
OF=dX ©SEIHMe 7 35,000,000 =10CH 350,000
OFAX == et ol A 10,000, 000%3CH 30,000
405 RHoHFE S HI 3,200 61,000 A 57,800
01 AL 2B F S| 3,200 61,000 A 57,800
OFTT XS AIMS2 R MEIA UMSSHO| Al A Rl
400,000 *8IH 3,200
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2AMd: DS
M melst ws MA 2E
©el: =FX €5 A (FUHESESA) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
([ N=R=]] 10,922 603,090 A 592,168
801 Gl HI bl 10,922 603,090 A 592,168
1 g eroildl gl 10,922 603,090 A 592,168
ool 10,922,000& *13l 10,922
HUXSIEHOILEAY 222l (HAHRSIEHIE ALY 549,388 474,743 74,645
SZ3AH)
< 60,000
Al 489,388
SSIHAEHDE ANEE 2el 370,000 337,715 32,285
< 60,000
Al 310,000
401 AIEHI L 201 370,000 337,715 32,285
< 60,000
Al 310,000
01 A& Bl 370,000 335,300 34,700
O3ZHAHDIE(ZX, YY) ANEE =X 2el
2,500,000 *20 &+ 12& 60,000
O3ZHAHOIE(ZX, §Y) 18 sZFU
10,000,000 *20H A 20,000
OIS AHAHDE SFIHE ALY
200,000,000& =14 200,000
< 60,000
Al 140,000
O SIHAHDE AM&ES EH|
60,000,000 104 & 60,000
OE=ESIHAHHDE AM&ES I
30,000,000% 104 & 30,000
0l bl Bl 179,388 137,028 42,360
801 GilBI8l 179,388 137,028 42,360
1 Leroldldl 179,388 137,028 42,360
O©uuldl bl 179,388,000& 14 179,388
HY2IZH (DS 92,331 104,316 A 11,985
Jl23dl 92,331 104,316 A 11,985
2Bt 92,331 104,316 211,985
201 Let2d] 38,751 43,056 A 4,305
01 At 22l 38,751 43,056 A 4,305
OB+t 90,0003 23 128 24,840
o=t 7,200 x23F 72«12 13,911
202 044l 47,520 55,200 AT,680
01 = LH o4 1l 47,520 55,200 AT7,680
HEFAI 20 HI 180,000& »22H » 128 47,520
203 ¥ S =&l 4,860 4,860 0
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